Dhulipalla Bala Chandra Prasad FIDE Id 25005812 To The Chairman **Qualification Commission FIDE** Respected Sir, I, Dhulipalla Bala Chandra Prasad (fide id 25005812) submit to state that I reached a live rating of 2400 at the end of the ninth round of XI Open Int d'Escacs Barbera del Valles 2017 Group A, held at Barbera del Valles, Spain from 4th to 12th July 2017. My published rating on 1st July was 2335 and the fide records (https://ratings.fide.com/individual_calculations.phtml?idnumber=25005812&rating_period=2017-08-01) show that I had a live rating of 2402.2 at the end of the XI Open Int d'Escacs Barbera del Valles 2017 Group A tournament, the details of which are furnished below: Rating as on 1st July 2335.00 Rating gained in XXV Open Internacional Ciutat deMontcada A tournament 30.80 Rating gained in XI Open Int d'Escacs Barbera del Valles 2017 Group A tournament 36.40 Live rating on 12th July 2017 2402.20 This is for your kind information and perusal. Thanks and regards, Yours sincerely Dhulipalla Bala Chandra Prasad Dated: https://ratings.fide.com/individual calculations.phtml?idnumber=25005812&rating period=2017-

Individual Calculations August 2017

08-01

Dhulipalla, Bala Chandra Prasad Total change: 56.60



XXV Open Internacional (ESP	2017-06- 26		
Rc	Ro			w		n	change	K	K*chg
2376	2335				5.00		1.54	20	30.80
■ Marzo Pie, Xavier			1936	ESP	1.00	1	0.08	20	1.60
☐ Shyam, Sundar M.	g		2535	IND	0.00	1	-0.24	20	-4.80
Fuentes Godoy, Lilia Ivonne		wm	2088	MEX	1.00	1	0.19	20	3.80
Fernandez, Fernando	m		2416	PER	1.00	1	0.61	20	12.20
☐ Burmakin, Vladimir	g		2504	RUS	0.00	1	-0.28	20	-5.60
Cuartas, Jaime Alexander	g		2492	COL	0.50	1	0.21	20	4.20
Rizouk, Aimen	g		2472	ALG	1.00	1	0.68	20	13.60
■ Santos Latasa, Jaime	m		2567	ESP	0.50	1	0.29	20	5.80
XL Open Int d'Escacs Bar 2017 Grupo A	bera	a del V	<u>/alles</u>	Barber Valles	a del	ESP	2017-07- 04		
Rc	Ro				w	n	change	K	K*chg
2310	233	35			6.50	9	1.82	20	36.40
☐ Gandhi, Anish			2012	IND	0.50	1	-0.37	20	-7.40
Avdhoot, Lendhe			2034	IND	1.00	1	0.15	20	3.00
■ Diaz Camallonga, Carles	f		2445	ESP	1.00	1	0.65	20	13.00
Perez Mitjans, Orelvis	g		2407	ESP	0.00	1	-0.40	20	-8.00
Campos Cayuelas, Adria			2078	ESP	1.00	1	0.18	20	3.60
Fernandez, Fernando	m		2424	PER	1.00	1	0.62	20	12.40
Perez Manas, Benjamin	f		2331	ESP	1.00	1	0.49	20	9.80
Burmakin, Vladimir	g		2505	RUS	0.50	1	0.22	20	4.40

Not included in the calculation, which I played in July, after reaching 2400

XIX Obert Internacional Sant Marti 2017 Grup A

Barcelona ESP

2017-)7-13

Rc	Ro	w	n	change	K	K*chg
2149	2335	6.00	9	-0.53	20	-10.60

☐ Prats Gaudo, Oscar		2015	ESP	1.00	1	0.13	20	2.60	
■ Sumit, Kumar		1975	IND	0.50	1	-0.40	20	-8.00	
☐ Xu, Zhihang		2140	CHN	0.00	1	-0.75	20	-15.00	
Perez Garcia, Adria		2123	ESP	1.00	1	0.23	20	4.60	
■ Meza Ponce, Jerry		2116	ECU	1.00	1	0.22	20	4.40	
☐ Himanshu, Sharma	m	2498	IND	0.00	1	-0.28	20	-5.60	
■ Glimbrant, Torbjorn		2238	SWE	0.50	1	-0.13	20	-2.60	
■ Kyrkjebo, Erlend		2085	NOR	1.00	1	0.19	20	3.80	
☐ Moksh, Amit Doshi		2154	IND	1.00	1	0.26	20	5.20	

The following federation ALL INDIA CHESS FEDERATION hereby applies for the
title of: Grandmaster (minimum level 2500) International Master (2400) Yes
Woman Grandmaster (2300) Woman International Master (2200)
To be awarded to:
family name: DHULIPALLA first name: BALA CHANDRA PRASAD
FIDE ID Number: 25005812 date of birth: 20-09-1996 place of birth: NIDUBROLU
date necessary rating gained: 12-07-2017 level of highest rating: 2404.8
Titles can be awarded conditional on reaching the required rating at a later date (see
Title Regulations 1.50c for the procedure to be followed in this case).
Herewith certificates (IT1s) and cross-tables for the following norms
1. name of event: 2 nd International Grandmasters Chess Tournament location: INDIA
dates: 2013/11/25 to 2013/12/03 tournament system: Swiss System
average rating of opponents: 2455 total number of games played: 11
points required: 5.5 points scored: 6.5
number of games to be counted: 11 (if not all)
(after dropping games): points required: points scored:
number from host federation: 7 number not from own federation: 4
number of opponents: total titled 11 GMs 7 IMs 4 FMs WGMs WIMs
WFMs rated unrated
2. name of event: World Junior (U-20) Chess Championship 2016 location: INDIA
dates: 2016/08/08 to 2016/08/21 tournament system: Swiss System
average rating of opponents: 2385 total number of games played: 13
points required: points scored:
number of games to be counted: 11 (if not all)
(after dropping games): points required: 6.5 points scored: 6.5
number from host federation: 3 number not from own federation: 8
number of opponents: total titled 8 GMs 2 IMs 3 FMs 3 WGMs WIMs
WFMs rated 3 unrated
3. name of event: XL Open Internacional Barbera del Valles A location:SPAIN
dates: 2017/07/04 to 2017/07/12 tournament system: Swiss system
average rating of opponents: 2314 total number of games played: 9
points required: 6.5 points scored: 6.5
number of games to be counted: 9 (if not all)
(after dropping games): points required: points scored:
number from host federation: 4 number not from own federation: 5
number of opponents: total titled 6 GMs 3 IMs 1 FMs 2 WGMs WIMs
WFMs rated 3 unrated
Attach another form IT2 if there are more supporting norms.
Tituen another form 112 if there are more supporting norms.
total number of games 31 (minimum 27) special comments
Name of Federation official: Mr.Bharat Singh Chanhan, Hon.Sec Dated: September 07, 2017
Signature: Bharathan (Z) (CHENNAI)